
Class XII VECTOR ALGEBRA Assignment No. 10
Q1. Find the magnitude of each of the following vectors :-

(i) kjia


52  (ii) kjib


343  (iii)
kjic


3

1

3

1

3

1


Q2. Find the unit vector in the direction of :-

(i) kjia


543  (ii) direction of AB if A (-2, 1, 2) & B (2, -1)

Q3. Find a vector in the direction of kjia


326  whose magnitude is 4 units. 

Q4. Find direction ratios and direction cosins of  kjia


435 

Q5. Find the angel between the vectors kjia


 23( & kjib


32 
Q6. Find x for which vectors kjia


23  + kjib


3  are perpendicular to each other. 

Q7. Find the projection of kjia


 2 on kjib


 2

Q8. Find a vector with magnitude 3 units & is perpendicular to each of the vector kjia


43  and 

kjib


256 

Q9. Find ( bxa


) and I bxa


I if (i) kjia


2 & kjib


432 

(ii) kjia


32  & kjib


253  (iii) kjia


253  & kib


 3
Q10. Find the area of parallelogram whose diagonal are (i)  kjid


231  & kjid


432 

(ii) kjid


 21 & kjid


 432

Q11. Using Vector find area of   ABC if :-
(i) A (3, -1, 2), B (1, -1, -3) & C (4, -3)   (ii)  A(1,2,3), B(2, 5, -1), C (-1, 1, 2)

Q12. Using vector show A, B, C are collinear pts. 
(ii) A (3, -5, 1), B(-1, -, 8) & C (7, -10, -6)  (ii)  A(6, -7, -1) B(2, -3, 1) & C (4, -5, 0)

Q13. Verify ifcxabxacbxa )()()(



(i) kjia


3 , kjib


 34 and kjic


22 

(ii) kjia


 4 , kjib


 and kjic


22 

Q14. If I a


I = 5, I b


I = 13, and ( bxa


) = 25, find a


, b


Q15. If I a


I = 2, I b


I = 7, and ( bxa


) = kji


623  , find the angle between a


and b


.


